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=0.8 x 10" ky/m’ x5 x

AN 5000 P,
R T i

1L 88:(1)18 min FFREHERE s =0 =30 kb x 22 = ko,
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0.3N=0.6 N,

[EITES

12524 107 R ANRERIEBINIT ) Fy =6 -
12 N7 N =5 N:JH/NSREE R T K 00 W BRI £ 53 09 1AL

F,
HI% 1 Fiy =p g gV AADNRIGIKBLY = Vg = M—*g.mudwﬁ

Gy

_I2N ; -
=5y X 10 x10° ky/m’ =

¢
it p = =
b

2.4x10° ky/m’ .

3. (1) A Z TR R G =8 N, A S5 (K it 3
WA =4 N,
W Fy=G-F=8N-4N=4 N
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W = 0:2.N 0.8 10" kg/m’ .

ghm 10 N/kgx2.5x10° m*

M E R0 B BT A R B, U A

FEA IR

Mok~ = o T IOV
Vo 10 N/kgx5x10 *m

T L AR BIAETE BT MR TN RR IE

ﬂ/inlﬁlltﬁiﬁﬂwmmﬁ V=SL=2.5 cm’ x10 em =25 cm’ =

25107

v,..trv,,ov 5x10 *m'+2.5x10 Sm'=3x10 *m’,

=4x10" kg/m’,

S 02N 10 kym
aan 10 R xax 10T 0 7% 10" b/

- 133 -



rEsa il

FhERESHHEHARILER
LM (1) TR EAEADEZRMITF) Fg =6-F=27N-
1.7N=1.0 N,
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0.1 m* x(0.4-0.1)m=300 N,
FNERGFHZEN Fa =pg &Vyx = 1.0 x 10° kg/m" x
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(2)Mh W=Ch=m'gh =1 x10" kg x 10 N/kg x20 m =2 x
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=220 00) a0y,
(3) 4§13 W, = Gh =900 N xS m=4 500 J,

R AL 7 = ﬂ AW e,
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1788 (1) 5 ORI K )
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AT IR0 6 3 <y
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10° Pa,
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TS B0 K3 <
F_120000 N
S 7002w x6
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"xﬂk-—»—-ik-xum kg=8.4 1,

3
TR it
memgy -my =8.41-21=6.4 1,

6. R SR RIES) :
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a \/bft\ﬁi‘l/](*#lﬂlb‘ll! W py = pgh =pg %12 em R}
bR TR Y p, =peh, , muﬂ# Y
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